

ist. source
 definite source rdx

4a)

$\sum q^n$; $\sum 1/n^s, s > 1$ $\sum 1/n = \infty$
 ($\sum 1/n^2 = \pi^2/6 < \infty$)

$\sum_{n=0}^{\infty} (-1)^n \cdot (s_n) = (1, 0, 1, 1-1+1-1 \dots, \dots)$
 $1, 0, 1, 0, 1, 0, \dots \rightarrow$ remd limitu
 $\Rightarrow \sum (-1)^n$ rekoverguje

4b) $\sum_{n=0}^{\infty} \frac{3^n - 2^{n+1}}{6^n} = \sum_{n=0}^{\infty} \left(\frac{3^n}{6^n} - 2 \cdot \frac{2^n}{6^n} \right) \stackrel{\text{fakt}}{=} \sum_{n=0}^{\infty} \left(\frac{1}{2} \right)^n - 2 \cdot \sum_{n=0}^{\infty} \left(\frac{1}{3} \right)^n$
 $= -1$
 $\frac{1}{1-1/2} - 2 \cdot \frac{1}{1-1/3}$
 $= 2 - 2 \cdot \frac{3}{3}$

4c) $\sum_{n=1}^{\infty} \frac{3}{n(n+3)}$ $\left| \frac{3+0 \cdot n}{n(n+3)} = \frac{A}{n} + \frac{B}{n+3} \right. \quad A, B \in \mathbb{R}$
 $\frac{A(n+3) + Bn}{n(n+3)} = \frac{(A+B)n + 3A}{n(n+3)}$

$\Rightarrow A+B=0, 3A=3 \Rightarrow A=1, B=-1$

$\sum_{n=1}^{\infty} \frac{3}{n(n+3)} = \sum_{n=1}^{\infty} \left(\frac{1}{n} - \frac{1}{n+3} \right) = \sum_{n=1}^{\infty} \frac{1}{n} - \sum_{n=1}^{\infty} \frac{1}{n+3}$

$= \frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \sum_{n=1}^{\infty} \frac{1}{n+3} - \sum_{n=1}^{\infty} \frac{1}{n+3}$
 $= 1 + \frac{5}{6}$
 $\frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \sum_{n=4}^{\infty} \frac{1}{n} - \sum_{n=1}^{\infty} \frac{1}{n+3}$